F.B.G. PRODUCT DATA SHEET

STYLE
DESC.

B10295-6-7
LEGION BED (HEADBOARD)

DOMESTIC _=

IMPORT _X____

VENDOR INFORMATION:

LOCATION CHINA

HARDWARE
NEEDED?

NAME ID

Y X

NUMBER

N_

DES. = SPINDLE COUNT

ISSUE D 3/3 = 5/0_/_
DATE 03-09-09 4/6 = 6/6_—_

FINISHS: ANCIENT GOLD

s}
s

g

7 1/2°

STEP 1— POWDER COAT (SILVER)

63//

STEP 2— GLAZE

S/0

STEP 3— LACQUER

DESCRIPTION

HARDWARE BAG #363501 FOR HDBD

S\

I

5/8* DIA. TUBE

|

©

®

47 %

\

3/4* DIA. TUBE 6 5/8”

1 374" DIA. TUBE

e

—— .265 DIA, HOLES

USE

57 -

THIS AS REFERENCE ONLY

39 172’
75 1/72°

C/C 35/0
C/C 6/6

26"

(4) 1/4-20 X 2 1/2" COUNTERSUNK

ALLEN HEAD SCREW

(2) 1/4—20 X 1 1/4” COUNTERSUNK

ALLEN HEAD SCREW

(2) 1/4-20 X 3/4” COUNTERSUNK

ALLEN HEAD SCREW

(4) 1/4-20 HEX NUT

(4) 5/8" (OD) FLAT METAL WASHER

(1) ALLEN WRENCH

HARDWARE BAG #363502 FOR FTBD

(2) 1/4—20 X 1 1/4" COUNTERSUNK

(4) 1/4-20 X 1" FLAT ALLEN

HEAD SCREW

(2) 1/4-20 X 3/4” COUNTERSUNK

ALLEN HEAD SCREW

(8) 5/8" (OD) FLAT METAL WASHER

(1) ALLEN WRENCH

(2) 1 3/4" PLASTIC GLIDE#150960000

NOTE: GLIDES COME PRE-INSERTED

DATE REVISION

10—-03—08 | UP—DATE HARDWARE INFORMATION

02—-09—09 | ADD CARTON INFORMATION

03-09-09 | REMOVE 6/0 INFORMATION

HEIGHT WIDTH DEPTH

WEIGHT (LBS.)

F OF CINS

CARTON

DIM’S CU FT.

SIZE

FTBD | HDBD FTBD HDBD |D—BED

PACKED

HDBD

FTBD

UNPACKED

HDBD| FDBD

HEADBOARD

FOOTBOARD HDBD| FDBD

3/3

4/6

5/0

34 54 63 63

35

32

|
—

63 1/2 x 31 x 6

63 1/2 x 31 x 6

6.8395[ 6.835

6/6

34 54 78 79

36

40

|
—

79 1/4 x 31 x 6

79 1/4 x 31 6

8.530(8.530

6/0




1

HEADBOARD PANEL

S 7/8" ,'*

47

o=

SY—————————————————————_"
—_—_—_—————————————— — —— T

\

1 3747

" DIA. POST

A

‘ 617 '
kjjj}j:/ijxﬁ%j;;k/ﬁ — i
|
2" DIA. TWIST |
5/8" DIA. TUBE TUBE
I ———— G——
27 1/2"
i 6T§é8” s 20" - 5/8” DIA. TUBE
1’DIA
| l_f TUBE
|
. 57 3/4” '
. 60 3/4” '

10-03-08




VENDOR INFORMATION: HARDWARE
F.B.G. PRODUCT DATA SHEET GCATION  CHINA NEEDED? ~ DES. - SPINDLE COUNT
STYLE Bl0295-6-7 DOMESTIC__ = NAME ID Y X ISSUE D 3/3 - 5/07_
DESC. LEGION BED (FOOTBOARD) |MPORT __ X NUMBER = N= DATE 03-09-09 4/6 — 6/6_—
FINISHS: ANCIENT GOLD STEP 1— POWDER COAT (SILVER) STEP 2— GLAZE STEP 3— LACQUER # DESCRIPTION
— |HARDWARE BAG #363501 FOR HDBD
—[(4) 1/4=20 X 2 1/2" COUNTERSUNK
- ALLEN HEAD SCREW
—1(2) 1/4=20 X 1 1/4" COUNTERSUNK
- ALLEN HEAD SCREW
—[(2) 1/4—20 X 3/4” COUNTERSUNK
- ALLEN HEAD SCREW
63" 5/0 — [(4) 1/4=20 HEX NUT
LN — — [(4) 5/8" (OD) FLAT METAL WASHER
— 5/8* DIA. TUBE /Yy — — [(1) ALLEN WRENCH
40 3 O\ g g g < - -
— |HARDWARE BAG #363502 FOR FTBD
—[(2) 1/4=20 X 1 1/4" COUNTERSUNK
, [ = [(®) 1/4=20 X 1" FLAT ALLEN
1 347 Dia. TUBH 34— HEAD SCREW
—[(2) 1/4—-20 X 3/4” COUNTERSUNK
B 1 - ALLEN HEAD SCREW
/j T — [(8) 5/8" (OD) FLAT METAL WASHER
METAL 3 3 ) 0 D 5 — | (1) ALLEN WRENCH
BRACKET ayar mz 9’ — 1=
265 SLAT HOLES 6 5/8° G | —[(2) 1 3/4" PLASTIC GLIDE#150960000
6" - 57 =
99 1re2” C/C 35/0 ISU | DATE REVISION
75 1/2" C/C 6/6
B 10-03—-08 | UP—DATE HARDWARE INFORMATION
(o} 02-09-09 | ADD CARTON INFORMATION
D 03-09-09 [ REMOVE 6/0 INFORMATION
USE THIS AS REFERENCE ONLY _ |- _
FAEIGHT WIDTH DEPTH | WEIGHT (LBS.) ¥ OF CINS CARTON DIM'S CU FT. [UPS.
size | FrBD | HOBD | FTBD | HDBD |D—BED |ueaSKERINPACKED 14 inppl FDBD HEADBOARD FOOTBOARD HDBD| FDBD| Y | N
3 - |- - - - {-1-1-1-1-1- 1 - - - [-T1-
w6 - |- |- - T 1-1-1T=-1T-1=-1- 1T - - - [-T-
5/0 |34 54 63 63 - 35(32(- |- |1 |1 63 1/2 x 31 x 6 63 1/2 x 31 x 6 6.8356.835 -
6/6 |34 54 78 79 - |40 |- |- |1 |1 79 1/4 x 31 x 6 79 1/4 x 31 6 8.530/8.530 -
6/0 |- - - - - - - 1-1- - - - I EEEE




FOOTBOARD PANEL

-5 7/8"

— 411 ‘
— 2” DIA, TWIST }
5/8" DIA. TUBE TUBE
4 3 i N \\1?/‘) g @ &\’2‘/} &\2&
27 1/2”
gEZQEET 347 T 6T%8” T —{ |~ 5/8” DIA. TUBE

pux i i L puy L L i
0 7 ) T % W n

l
1 DIA. TUBE 4 ‘ ‘

I
‘ ! o7 3/47

60 3/4°

1/8" === 1 3747

10-03-08




FASHION BED GROUP
PRODUCT DATA SHEET

5950 W. 51st STREET
CHICAGO IL. 60638

420009 (5/0 & 6/6) S o
STYLE
DOMESTIC __X ISSUE C 3/3 5/0_ %X
DESCRIPTION L&P ENGINEERED FRAME IMPORT DATE _8-5-93  4/p 6/6 _X
4 DESCRIPTION
RN “ 1 | BRASS CAP
/ S/Q) : 2 | pLASTIC FoOT
/ 3 | SIDE RAIL ASSEMBLY
\ 4 | CENTER SUPPORT RAIL
.« 5 | CENTER CROSS MEMBER
\\\//
@)
e
| I
5/0 = 59 T ! 4
6/6 = 75 IR i
71/ i ! ISU DATE REVISION
o DoDe 0D CO oCD aCD eCD oCD FLOOR TO ”L R
BOXSPRING ? 5¢ C 8/5/93 ADDED CENTER CROSS MEMBER
DETAIL A DETAIL B
HEIGHT WIDTH DEPTH WEIGHT (LBS.) NO. OF CTNS CARTON DIM'S CU FT. U.P.s.
SIZE HDBD FTBD HDBD FTBD DAYBED PACKED | UNPACKED FRAME FRAME FRAME Y |IN
3/3
4/6
5/0
6/6
FRAME 45 1 86 x 3-1/4 x 7-3/4" 1.25 X

NOTES:




	83981-09828439063148-DG
	Legion HDBD 1 of 2
	Legion Headboard 2 of 2
	Legion FTBD 1 of 2
	Legion Footboard 2 of 2

	83981-09828439063148-DG-MERGE1

